DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

Name:
DIVISION
Time: Score: y—
o) (0776 + 0.01 = 26 59490 + 9 =
012) —14.959 = 0.007 = 251 —0.1579 = 0.1 =
213) —8.746 = 0.002 = %) —H3298 + 7 =
211) 53484 = 6 = 280) (0.36912 = 0.06 =

25) - 2.937 +0.01 =

276) —1.1596 — 0.02 =

2 163.6 - 1 =

278) 1.5888 + 0.003 =

2790 (0.31592 + 0.08 =

280)  231.54 = 0.06 =

20 53.6064 + 0.6 =

) —170.22 + 2 =

283) 48.715 = 0.05 =

21 7.574 +0.07 =

285) 17688 - & =

Mathematics: Division - Level 6 - Horizontal - Set 4
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—6.8022 + 0.9 =

—1.2502 + 0.7 =

3.501 =+ 0.001 =

3.133+0.1 =

—46950 =+ 5 =
9029 -1 =
65.10 =5 =
—213.54 + 0.3 =
—9.092 +0.04 =
—2100 + 3 =
—86.42 +0.01 =
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